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EH FE HAKRF 1 1 1 1
USE  FE BFRAF 2 2 6 2
=g B HIKERIZ SR 10 4 2 3
HLE BETISE R 5 10 3 4
aH = BEEBZR—VYHR 3 20 5 5
Am FEiY V& DISSC 8 4 6
alll BAsE V& DISSC 17 3 9 7
BE ez BERER 8 5 17 8
fhEF NIE INBER 6 21 9
alll 2% BFRAF 16 7 12 10
= &3 HHRFIERER 7 14 14 11
TFE & fERSSC 18 16 12
WE & HARIRSSC 9 11 13
BE FT= IIBFBRF 13 17 10 14
PR E5H BRFRAF 12 9 22 15
iz] i =SS HERRIRSSC 19 13 13 16
k8 #EX [LESSC 11 12 23 17
A FIR PREEAZF 14 18 16 18
WA IRE PREEAZF 15 15 18 19
A s =R 22 21 11 20
=te BEE RIS 21 22 15 21
fERAR  FHE RIS 20 19 19 22
HO 2 NN 23 23 20 23
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